Ho2lal RS AR RS 1/1
HIH : 20214E6 H20H (H) 28 ARG A 7 Y —F (50m)
No.6 EF 50m &EikF R A LL—RRE AR 25.98
LK BF—# >
B K 4 T & 2E KE B fE

1T AR BIGT —% 1/ 5 26. 76 8tk

2 B N TOYOTA —fi% 1/ 4 28. 21 Tk

3 & H 5 TOYOTA —f% 1/6 38.52
No.6 EEF 50m k= R A LL—RRE AR 28.84
L 0FLUE >
B K& 4 T & 2E KB BF fE

1 KRR #A FETKE —f% 1/ 3 32. 44 3tk

2 MK HE T — —i 1/ 2 34. 68 Ltk
No.6 BF 50m ik 84 L L—RRE ARER 3097
L H0mELLE >
B K& 4 T B BE KK B fEl

1 R B TOYOTA —f& 1/ 7 30.7}? 4%

N
2 R T ] 1% 38 3 —i% 1/ 1 45. 51
HAOBRME: 6H20H 16:21



